il

GINGI

— O

=

PR =0

pE——

puk HEETH

LA

IR o SR
R\ %un nmmw..AJmV
= S \adr)

b a .dn UU oo Q

: 0 oo
21T o D@ .
bl ) o>

=

S5 aag e
e
53

v
e gt

Soot

LI

.

REATHISKBERELSE (EAHE)

29 E

E'Z

a
=

L
55
E.ﬁ

;

/M_,upa ClEE
B P el TE@M@
=5 D_ﬁ =0
i i ey U1

LT 2ES =

i

, 000

10

o i e B I ot Sl
e hon 18 g \mw\umnﬂ_.iw.l.ﬂgr
Meﬂ.. : ....d el J > 3 a%%m@m&ﬁﬂ
sl e
Q

1

o Btk y@m
il oo 1 [ 18

hﬁ

S




B TR 2 &R

(£RmE)

TmERLETEHISHE

T E
T g g TRANEE BLETEISRREARIS
iR 4

WIER | BAdTH AT MERETESN R
NELH | EENER - TER
® R 1:30,1:500
NEES 1 % 1

sh ®T TH B F% B B B M B R

1= 2 i X

5,200

5=1:30

500

4,200

500

CL

NEER CGEm iR

W=150)

/

_2.0% 2.0%- _£

- —\
B I OB EZEHREA (13F) t=30
£ B I QBEFHEAs (13) t=40
RERIE WREMA YIAREA (6-20) t=20

T &R

L EE

W.0

S=1:500

{\’(‘_\»r\bh?’

BIER L=34.3m
‘ S iEEmE A=187.7m
2,300
2,600 17,400 9,500 2,500
o o o ol o z
o o o o o
~ ~N ~N N r~
I 5 S )(?
I I Il Il Il
= = = = |=
© [Te) oo m
N o =2
of |2 _ I ER
2 |2 = S |2 |2
2R
[ I

ARmARER(E)
SHENER W=150
L=38. 0m

KBFBKESRR
|

E BRERIEHRKE

ARARER(HE)
SHEER W=150
L=32. 8m

AR XER
Z L8 W=300
=2.0m
RKAFEK L




